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Organic Chemistry 2 Jasperse Test 1, Alcohol Chemistry

Draw Mechanisms for the Following Reactions

RMgBr + Ketone %
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RMgBr + Ketone
1. Addition MgBr
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RMgBr + Aldehyde 09 1 Q OH
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RMgBr + Aldehyde OD
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RMgBr + Epoxide

L Addltlon. )VMgBr > /k/\/OH

2. Protonation

H




= 0w
o
&
N
T
|
T
O
x

RMgBr + Epoxide (s) I
1. Addition = NN\ e
2. Protonation 2
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Ketone + LiA1H4 HG )H-,
1. Addition

2. Protonation
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Ketone + NaBH4
1. Addition l
2. Protonation >
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RMgBr + Ester S
| | Addition \l\/@ @
2. Elimination

3. Addition > d G
4. Protonation g’ /_\_/_;j
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RMgBr + Ester
1. Addition

2. Elimination N -O CF
3. Addition /\g\ —3 Q —_— g
4. Protonation
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RMgBr + Cyclic
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Ester \/\ -
1. Addition

2. Elimination
3. Addition
4. Double
Protonation
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LiAIH4 + Ester J, H
1. Addition

2. Elimination

3. Addition

4. Protonation H
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LiAlH4 + Ester 1 H -
1. Addition

S v VH- H
2. Elimination ¢ —> O H —> H
3. Addition )
4. Protonation | ~OCH; LiAlH4 @
T Ester

/\/\)\ 1. Addition
1 2. Elimination
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HO Ester
1. Addition
'./’H"} j 2. Elimination
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o 4. Double
Protonation
Tert Alcohol + HX

to RX

1. Protonate

2. Loss of H20
+ ,.bo 3. Add halide

Tert Alcohol + HX
> to RX

1. Protonate
2. Loss of H20
3. Add halide

Tert Alcohol + HX
to RX
> />(Br\/ 1. Protonate
2. Loss of H20
' 7 3. Add halide







